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NEW QUESTION 1
A customer complains about the number of times they must explain their problems and ask different team members to find a solution. How can this issue be
avoided?

A. Share the company's organizational chart with the support team.
B. Provide customers with relevant use cases for the purchased solution.
C. Ensure that the customer knows the point of contact for product training.
D. Clarity roles and responsibilities with the stakeholders.

Answer: D

NEW QUESTION 2
In an onboarding session, introductions to new stakeholders were made, new KPIs were collated, and desired use cases were discussed. Which step does the
Customer Success Manager take next?

A. Document the session, stakeholder interests, and metrics for leadership
B. Create a success plan to be reviewed with the customer at the next review meeting
C. Provide technical configuration for development
D. Discuss new opportunities and new products to purchase

Answer: B

NEW QUESTION 3
What is Quarterly Success Review?

A. new success plan that focuses on the upcoming goals for the customer.
B. gap analysis that focuses on the state of the customer’s current architecture.
C. technical analysis that outlines the implementation plan and adoption barriers.
D. a conversation that outlines key initiatives that are agreed upon in the success plan.

Answer: B

NEW QUESTION 4
What is a barrier to adopting software tools?

A. limited resources
B. recurring cost
C. commercial decision
D. organization size

Answer: A

NEW QUESTION 5
From a Customer Success perspective, why should the customer’s health be monitored?

A. to provide the opportunity to address any changes in the customer's experience around the solution
B. to identify unused licenses so they can be addressed via a service improvement plan
C. to directly enable renewals
D. to give the customer valuable insight so they can automatically renew critical services on time

Answer: C

NEW QUESTION 6
What is the best method to measure customer consumption of technology?

A. telemetry and analytics
B. recurring revenue management
C. enterprise CRM and incident management
D. content management

Answer: A

NEW QUESTION 7
What is the first step a Customer Success Manager should take to identify why the solution was purchased?

A. Review the bill of materials
B. Evaluate the Customer Success Plan
C. Collaborate with the sales team.
D. Engage with the customer

Answer: D

NEW QUESTION 8
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Refer to the exhibit.

Which role is accountable for the Develop and validate Success Plan update activity?

A. Account Manager
B. Customer Success Manager
C. Product Sales Specialist
D. Business Development Manager

Answer: B

NEW QUESTION 9
Why should a customer’s success be documented?

A. to establish KPIs that measure success
B. to provide awareness of the value achieved by the solution
C. to provide expansion opportunities for the sales team
D. to document roles and responsibilities for project management

Answer: B

NEW QUESTION 10
Which role within a Customer Success organization acts as a single contact point for a customer across multiple technologies?

A. Delivery Team
B. Account Manager
C. Customer Success Manager
D. Customer Success Specialist

Answer: C

NEW QUESTION 10
Which statement describes an end user adoption barrier?

A. There are insufficient licenses for additional staff from a newly acquired company to use the solution.
B. The CIO insists on conducting training for all heads of department before deploying the new Collaboration solution.
C. The budget is insufficient to implement the solution for a new branch of the business.
D. Staff refuses to change their habits and continues to use a noncompliant social media application to conduct business communications.

Answer: D

NEW QUESTION 15
Your customer’s business outcome is to drive employee efficiencies. Which key metrics measure this outcome?

A. increase in new subscribers or increase in end users
B. number of incidents reported or number of compliance issues
C. reduction in headcount or operational support costs
D. customer and employee feedback
E. number of activities completed or increase in direct time

Answer: E

NEW QUESTION 19
Which of these is included in a success plan?

A. confidential customer information
B. customer business outcomes
C. customer HR processes
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D. services cost

Answer: B

NEW QUESTION 21
The customer has a new leadership team that expresses concern over the lack of adoption of a purchased solution. Which two activities must the Customer
Success Manager initiate to mitigate this risk? (Choose two.)

A. Create a new Health Index dashboard with the Sales team.
B. Evaluate the customer's expertise in managing the purchased solution.
C. Examine solution pricing with the Renewals Manager.
D. Schedule Quarterly Business Review with the new leadership team.
E. Review the original business case and reassess desired outcomes with the new leadership team.

Answer: BE

NEW QUESTION 26
What is a common indicator of customer health?

A. number of services purchased
B. number of licenses purchased
C. customer satisfaction metric
D. amount of money spent on the solution

Answer: C

NEW QUESTION 31
Which type of KPI is of the most interest to Customer Success?

A. business KPIs that define progress to the Business Outcome
B. sales KPIs for revenue generation
C. IT services KPIs for operations
D. OPEX KPIs that define the operational costs of the company

Answer: A

NEW QUESTION 32
Which two metrics are used by Customer Success Managers to measure customer success? (Choose two.)

A. help desk data
B. health score
C. risk management
D. telemetry
E. training surveys

Answer: BD

NEW QUESTION 35
During the delivery of a security solution, adoption barriers were identified. Those barriers were addressed, and the customer’s business goals are now fulfilled.
The customer is pleased with their solution and shares this experience in blogs and social media. In which stage is the customer?

A. Adoption
B. Optimize
C. Expand
D. Advocate

Answer: D

NEW QUESTION 40
Your client, the Director of IT Policy and Governance of Easternbank, has just informed you that the CIO is dissatisfied with the current level of utilization of the
collaboration solution that was deployed 3 months ago. The client has requested a meeting to improve the situation. Which reports are critical to the success of the
meeting?

A. number of users registered, bandwidth utilization, number of training sessions user joined
B. number of users registered, service logs, number of users
C. number of users registered, number of meetings user initiated, number of meetings user joined
D. network utilization, number of meetings user initiated, number of users

Answer: C

NEW QUESTION 45
The customer wants to improve operational expenditure and reduce the C02 footprint of the organization. Which two business outcomes are critical to the
company’s success? (Choose two.)

A. sustainability
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B. credibility
C. time to market
D. business growth
E. cost efficiency

Answer: BE

NEW QUESTION 50
A customer purchased 500 licenses for its cloud-based collaboration solution. During a customer meeting, they complain to the Customer Success Manager that
they cannot verify who and how the licenses are being used. Which two types of adoption barriers are occurring? (Choose two.)

A. process
B. people
C. tools
D. platform
E. application

Answer: AB

NEW QUESTION 54
Which Customer Success activity is critical from the supplier perspective?

A. identifying opportunities for sales expansion
B. driving full adoption of the company's technology across all supported solutions
C. ensuring the customer has a success plan and is achieving each milestone in a timely manner
D. listening carefully to the customer's feedback and taking actions so the company's solutions can be improved

Answer: C

NEW QUESTION 58
Which type of information should be captured during the first customer engagement?

A. cases escalated to technical support
B. expansion opportunities
C. customer's desired outcomes
D. stakeholder map

Answer: C

NEW QUESTION 63
A large university has deployed a new IT solution designed to improve the overall student and staff experience. Which approach to measure success is the best?

A. Twice yearly student and staff surveys with two QUESTION NO:s related to IT
B. Measure the number of complaints raised by students
C. Combination of tailored surveys and IT tools-based metrics
D. Implement staff Super Users to provide feedback

Answer: B

NEW QUESTION 67
Which element evaluates a customer outcome?

A. key performance indicators
B. milestones
C. metrics
D. benchmarks

Answer: A

NEW QUESTION 69
Which definition of a use case is true?

A. comparison of the marketing description of what a product does to the customer’s experience
B. list of actions or event steps that a customer uses
C. list of actions or event steps that typically defines the interactions between a role and a system to achieve a goal
D. list of instructions that customer uses for their software

Answer: C

NEW QUESTION 72
The customer wants to increase the utilization of their video conferencing system. Drag and drop the actions from the left into the correct sequence on the right.
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A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 75
Which Key Performance Indicators contribute to customer value achievements?

A. profit and risk reduction
B. employee usage and training volume
C. product, services, and sales
D. cost, time, and customer satisfaction

Answer: D

NEW QUESTION 77
In which lifecycle stage would a lack of skilled resources be identified as a barrier?

A. sales proof of concept
B. late-stage adoption
C. early-stage adoption
D. solution renewal

Answer: A

NEW QUESTION 80
......
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